Mathematics 172

Quiz # 22 Name: : I/\f L/
7

You must show your work to get full credit.

A plant with a three stage growth cycle has Leslie matrix

0.0 6.2 39.0
L=1035 00 00].
0.0 0.62 0.0

This plants live on an island and the initial age distribution is
7(0) = [210 6 4]

We wish to compute the discrete exponential grow rate ), the per capita growth
rate 7 = A — 1, and the stable age distribution. To do this compute

1. ] _
(7. ¢ (7356
n(60) = 24 é‘f and  7i(61) = 251y

1445 528

2. If we have reached the stable age distribution we should have
n(61) = A7(60)

this gives three equations for \. What are the three values we get for lambda?

A=_[,022 =
A= _L.o22 = !S.2%
These agree to three decemial places, so we can consider that we have reached ! F.4§
the stable age distribution.

3. What is the stable age distribution? ' ¢
T uaed 1'l60) , gy = 7’_;, T X/00
1 '7/4[ 4+24.64 Percent instage 1 ¢, % /b 7519
T@ : P ' - -
+/%. _ 2464
[ted Percent in stage 2 3.2¢ %0 = 37948 X106
Percent in stage 3 ’ /0’7 O/O = —7)—:—/—-,_0;"/%'; X100



